1.The statement “Civil engineers should design safe constructions”

a) Is a descriptive statement because it is true

b) Is a descriptive statement because it refers to what is or is not actually the case

c) Is a normative statement because it is true

d) Is a normative statement because it refers to what is desirable
2. Which of the following statements is entailed (implied) by the rejection of ethical relativism?

a) Ethical judgments are context independent

b) One’s own moral views are the only right ones

c) The most important moral principles should be the same for everybody

d) There cannot be different moral views

3. Which of the following statement about the precautionary principle is true?

a) According to the precautionary principle, measures to cut the emissions of CO2 are only to be taken if the greenhouse effect it is scientifically proven, not earlier

b) The precautionary principle implies a reversal of the burden of proof in the sense that the people who want to introduce a new technology must prove, or at least make it somehow credible, that the risks and possible hazards of that technology are acceptable

c) The precautionary principle implies that the government has to be cautious in issuing measures against technological risks in order not to slow down economic growth

d) None of the above statements is true

4. Which famous philosopher is often seen as a main representative of deontological ethics?

a) Aristotle

b) Jeremy Bentham

c) John Stuart Mill

d) Immanuel Kant

5. “Safety” is

a) A norm

b) A value

c) A virtue

d) None of the above

6. Which of the following statements about limited liability is true?

a) Limited liability of corporations means that corporations are only liable when they are at fault

b) Limited liability of corporations means that only the managers of a corporation can be held liable for the activities of the corporation

c) Limited liability of a corporation means that the liability of the corporation’s managers for the activities of a corporation is limited to amounts specified in the law

d) Limited liability of corporations means that the liability of the shareholders for the activities of a corporation is limited to the amount of the (nominal) value of their shares

7. Which of the following statements about the technological fix is false:

a) According to the reader, not all social problems can be solved by a technological fix

b) A ‘technological fix’ can be used to refer to a quick and dirty solution, generally leading to more, often unforeseen, problems than previously

c) A ‘technological fix’ originally meant: a technological means for solving social problems

d) A technological solution is only a technological fix if it has no unforeseen risks

8. According to the tripartite model:

a) Engineers are only responsible for technical decisions not for value decisions

b) Engineers should blow the whistle on unsafe technologies

c) Engineers should take precautions in taking up new technological possibilities and challenges

d) The governance of society should be based on technical and scientific principles

9. Which of the following statements is true for deductive-nomological model of explanations but

false for the probabilistic-statistical model of explanations:

a) The model can be used to explain scientific laws

b) The model can be used to explain observations

c) The explanans should contain a reference to a scientific law

d) The explanandum follows logically from the explanans

10. Which of the following statements about induction and deduction are true

a) Induction reasons from the specific to the general, while deduction reasons from the general to the specific

b) Induction is logically invalid, while deduction is logically valid

c) Induction plays a role in scientific reasoning, while deduction plays no role in scientific reasoning

d) Both a and b are true

11. Consider the following argument: “John is not a civil engineer and, since all civil engineers design

safe constructions, it follows that John doesn’t design safe constructions”

Now define:

A: ‘John is a civil engineer’

B: ‘John designs safe constructions’

Which of the following statements about the above argument is true?

a) The above argument is invalid and can be formalized as:

Not A, A -> B, So not B

b) The above argument is invalid and can be formalized as:

Not B, A -> B, So not A

c) The above argument is valid and can be formalized as:

Not A, A -> B, So Not B

d) The above argument is valid and can be formalized as:

Not B, A -> B, So Not A

12. Answer this follow-up question on the Cassini

Some else come up with the following argument in relation to the Cassini mission:

“I consider the mission unacceptable because it is a sign of human hubris (arrogance). Who are we, human beings, to discover, and later exploit or colonize, the universe? We should be more modest and refrain from this kind of space mission”.

In terms of which ethical theory, can this argument best be understood?

a) Consequentialism

b) Deontological ethics

c) Right ethics

d) Virtue ethics

13. Which of the following statements is true?

a) A valid argument cannot contain a false conclusion.

b) An invalid argument contains at least one false premise.

c) The conclusion of an invalid argument must be false.

d) The premises of an invalid argument must all be true.

14. The statement “We should build a new nuclear power plant”:

a) is a descriptive statement because it is not true.

b) is a descriptive statement because it refers to what is or is not actually the case.

c) is a normative statement because it is not true.

d) is a normative statement because it refers to what is desirable.

15. Which of the following statements is true?

a) Cost/benefit analysis only takes financial aspects of a new technology into account.

b) Flexibility of meanings implies that various social groups attribute different meanings to a technology.

c) ‘Second-order’ effects refer to technological developments that adapt to important changes in society.

d) Demand/market pull means pulling the market in order to make sure that a new technology will be accepted.

16.  Consider the following two statements:

(I) Awareness TA is aimed at influencing the process of technological change.

(II) A surprise free scenario does not take sudden/extreme occurrences into account.

Which of the followings statements is true?

a) Both statement (I) and (II) are true.

b) Statement (I) is true; statement (II) is false.

c) Statement (II) is true; statement (I) is false.

d) Both statement (I) and (II) are false.

17. Which of the following statements is true?

a) Backcasting defines the situation that somebody would like to reach and then aims at developing a route that could lead to that situation.

b) The control dilemma states that we cannot really control technology because often we only know the undesirable effects of a technology once it has become intrinsically embedded in society.

c) A positive feedback loop in technology development means that technological designs are adapted by criticism that aims at improving the design.

d) Both a) and b) are true.

18. Which of the following statements is true:

a) Traditionally, technology is seen as a ‘zero-sum game’: in the end there are just as many people who lose from a new technology as people who win from it

b) Second and higher order effects are mainly caused by with changes in human behavior as a result of the introduction of a new technology

c) The difference between the traditional style and the new style of TA is that the new style of TA is much more directed towards convincing users to take up new technologies

d) The Delphi method tries to articulate a diversity of opinions among experts about a future development.

19. Which of the following statement(s) about induction and deduction is/are true

a) Entrenchment refers to the hardship to change technologies, because other technologies and

organizations are attuned to these ‘entrenched’ technologies.

b) The idea of technological determinism assumes that technologies will always provide the most

efficient solution, and therefore people have no freedom to choose for a certain technology.

c) The reformulation of a reverse salient into a critical problem is necessary to facilitate system

growth.

d) Both a), b), and c) are true.

20. Which of the following statements is true:

a) Kondratieff’s ‘long waves’ describe a wave pattern in the development of the economy having a period of about 50 years.

b) Large infrastructure projects can be seen as examples of ‘technology push’.

c) The evolutionary approach to technology development describes this development as a process

that always leads to the most efficient technology (‘survival of the fittest’).

d) The technological regime consists of the legal restrictions that interfere with technological

development, for instance the ban on genetically modified crops in the European Union.

21. Which of the following statements is false?

a) Constructive Technology Assessment (CTA) is geared towards influencing the process of technological change. This approach aims at making technology development conform to social needs and wishes.

b) The SCOT model (‘social construction of technology’) states that inventors have to socialize in order to become successful.

c) A surprise free scenario excludes sudden/extreme events from consideration.

d) The control dilemma makes clear why policy makers are often hesitant to introduce regulation in concern with new technologies.

22. Which of the following statements is false?

a) A market without entry restrictions for producers and customers makes the existence of technological monopolies impossible.

b) A technological trajectory means a path of development of a technology that is governed by a specific technological paradigm.

c) Niche management is the creation of a protected environment for a new technology, in the sense that it is not subject to direct competitive market forces.

d) Backcasting is a form of ‘blue-print thinking’, it provides a means to reach a specific sociotechnical.

23. Which of the following statements is true?

a) Sustainable development is about meeting the needs of presently living people without compromising the ability of future generation to meet their own needs.

b) Realizing a sustainable world implies that everybody will end up living in the same way.

c) If we want to achieve a sustainable society, we have to reduce our dependency on technology.

d) Engineers do not have to worry about the sustainability of their products, because it is the end user who determines whether a product is used in a sustainable way or not.

24. Which of the following statement(s) is/are true?

a) A reverse salient is that part (or parts) of a technological system, which is lagging behind in development and therefore limit the growth of the system as a whole.

b) The production function indicates how much products can be produced with a certain amount of capital.

c) Path dependency means that all technologies always develop through the same phases.

d) Both a) and c) are true.

25. The statement “Civil engineers should design safe constructions”

a) Is a descriptive statement because it is true

b) Is a descriptive statement because it refers to what is or is not actually the case

c) Is a normative statement because it is true

d) Is a normative statement because it refers to what is desirable

26. Which of the following statements is entailed (implied) by the rejection of ethical relativism?

a) Ethical judgments are context independent

b) One‟s own moral views are the only right ones

c) The most important moral principles should be the same for everybody

d) There cannot be different moral views

27. Which of the following statement about the precautionary principle is true?

a) According to the precautionary principle, measures to cut the emissions of CO2 are only to be taken if the greenhouse effect it is scientifically proven, not earlier

b) The precautionary principle implies a reversal of the burden of proof in the sense that the people who want to introduce a new technology must prove, or at least make it somehow credible, that the risks and possible hazards of that technology are acceptable

c) The precautionary principle implies that the government has to be cautious in issuing measures against technological risks in order not to slow down economic growth

d) None of the above statements is true
28. Which famous philosopher is often seen as a main representative of deontological ethics?

a) Aristotle

b) Jeremy Bentham

c) John Stuart Mill

d) Immanuel Kant

29. “Safety” is

a) A norm

b) A value

c) A virtue

d) None of the above

30. Which of the following statements about limited liability is true?

a) Limited liability of corporations means that corporations are only liable when they are at fault

b) Limited liability of corporations means that only the managers of a corporation can be held liable for the activities of the corporation

c) Limited liability of a corporation means that the liability of the corporation‟s managers for the activities of a corporation is limited to amounts specified in the law

d) Limited liability of corporations means that the liability of the shareholders for the activities of a corporation is limited to the amount of the (nominal) value of their shares

31. Which of the following statements about the technological fix is false:

a) According to the reader, not all social problems can be solved by a technological fix

b) A „technological fix‟ can be used to refer to a quick and dirty solution, generally leading to more, often unforeseen, problems than previously

c) A „technological fix‟ originally meant: a technological means for solving social problems

d) A technological solution is only a technological fix if it has no unforeseen risks

32. According to the tripartite model:

a) Engineers are only responsible for technical decisions not for value decisions

b) Engineers should blow the whistle on unsafe technologies

c) Engineers should take precautions in taking up new technological possibilities and challenges

d) The governance of society should be based on technical and scientific principles

33. Which of the following statements is true for deductive-nomological model of explanations but false for the probabilistic-statistical model of explanations:

a) The model can be used to explain scientific laws

b) The model can be used to explain observations

c) The explanans should contain a reference to a scientific law

d) The explanandum follows logically from the explanans

34. Which of the following statements about induction and deduction are true

a) Induction reasons from the specific to the general, while deduction reasons from the general to the specific

b) Induction is logically invalid, while deduction is logically valid

c) Induction plays a role in scientific reasoning, while deduction plays no role in scientific reasoning

d) Both a and b are true

35. Answer this follow-up question on the Cassini

Some else come up with the following argument in relation to the Cassini mission:

“I consider the mission unacceptable because it is a sign of human hubris (arrogance). Who are we, human beings, to discover, and later exploit or colonize, the universe? We should be more modest and refrain from this kind of space mission”.

In terms of which ethical theory, can this argument best be understood?

a) Consequentialism

b) Deontological ethics

c) Right ethics

d) Virtue ethics

36. Read the case and answer the question

Bay Area Rapid Transport Project

In March 1972 Holger Hsortsvang, Max Blakenzee, and Robert Bruder, three engineers, working on the Bay Area Rapid Transport Project (BART) in California (United States) and responsible for the design and creation of an automatic guided train system, were dismissed. These engineers had been expressing their doubts about the safety of the system via internal memos since 1969 to their managers. The response was "don't make trouble". In 1971 they brought their concerns in confidence to members of the board of directors, thus bypassing their immediate superiors. That was unconventional for the BART organisation and indeed for any hierarchical organisation. The director they finally made contact with turned out to be very interested in their case and so he promised to raise it with the management. He furthermore promised to keep their names anonymous and do nothing to damage their interests. However, two days after the encounter the full story was published in the Contra Costa Times.

In this case, Holger Hsortsvang, Max Blakenzee, and Robert Bruder eventually spoke out their doubts about safety in public. How is such a kind of action called?

a) Active responsibility

b) Informed consent

c) Paternalism

d) Whistle blowing
37. Read the case and answer the question

High speed train disaster in Germany

On June 3 1998, the German high speed Intercity Express (ICE) train 884 “Wilhelm Conrad Röntgen” derailed at a speed of about 200 kilometers an hour and ran into a bridge that fell down on the train. The subsequent cars of the train jackknifed into the crashed cars in a zig-zag pattern. Eventually, 101 people were killed and 88 severely injured. Investigations after the accident showed that the disaster was to a large extent due to a change in the wheel design of the train.

Three engineers, two from the German railways (Deutsche Bahn) and one from a supplier, who all had been involved in the certification of the wheels were tried and charged with manslaughter. After 53 days, the judge concluded that the three had not been grossly negligent. Three reasons were given for this. First, among experts there was not a principled objection against the new type of wheels. Second, the metal cracks that could cause an accident like this can develop rather quickly, so that adequate inspection procedures might not have prevented an accident like this. Third, it was not considered proven that the engineers had made gross mistakes in calculating the load on the wheels. Therefore the case was dismissed on the condition that each defendant paid a fee of 10,000 Euros (a possibility that is specific to German criminal law).

What is the name of the responsibility model that was applied in this case?

a) Collective model

b) Corporate model

c) Hierarchical model

d) Individual model

38. The statement “The moon is made of blue cheese”

a) Is a descriptive statement because it is not true

b) Is a descriptive statement because it refers to what is or is not actually the case

c) Is a normative statement because it is not true

d) Is a normative statement because it refers to what is desirable

39. Consider the following argument:

“Cheating on exams is not allowed because if everybody would do so, cheating on exams would become meaningless due to the fact that there is no longer a reason to expect a relation between a person‟s abilities and knowledge, and his or her exam score.”

This is:

a) An argument based on the analogy between cheating and exams

b) An argument based on the first categorical of Kant (the universality principle)

c) An argument based on the second categorical imperative of Kant (the reciprocity principle)

d) An utilitarian argument because it refers to the actual rather than the hypothetical consequences of cheating

40. The collective accountability model as described in the reader is:

a) Attractive to large organizations because such organizations form a collective

b) Attractive to large organizations because then everybody watches over the behavior of others

c) Unattractive to large organizations because individuals cannot be held accountable according to the model

d) Unattractive to large organizations because individual differences in accountability cannot be taken into account

41. Suppose two different technologies A and B have the same total risk and total benefits. Which of the following statements is true?

a) A and B are equally morally acceptable

b) A and B need not be equally morally acceptable because the distributions of risks and benefits may be different between A and B

c) A and B need not be equally morally acceptable because there may be a more attractive alternative to technology A while such an alternative is not available to technology B

d) Both b and c are true

42. Consider the following statements about possible contradictions in codes of ethics:

1. Codes of ethics are plagued by contradictions because they are vague

2. Whether codes of ethics are plagued by contradictions partly depends on the interpretation of the vague concepts and rules, which the codes contain

Which of the following statements is true?

a) Statement 1 is false while 2 is true

b) Statement 1 is true while 2 is false

c) Both statement 1 and 2 are true

d) Neither statement 1 nor 2 is true

43. Which famous philosopher is often seen as the founder of virtue ethics?

a) Aristotle

b) Jeremy Bentham

c) John Stuart Mill

d) Immanuel Kant

44.  “Speak the truth” is

a) A norm

b) A value

c) A virtue

d) None of the above

45. Which of following conditions is not mentioned as a condition for passive moral responsibility in the reader?

a) A causal connection between your action and the detrimental effect

b) Preventing the detrimental effect was part of your task description

c) The ability to have acted differently

d) The transgression of a norm

46. What is a legal person?

a) A fictitious person that has, for the law, the same rights and obligations as a real person

b) A natural person that is representing a company, the state or other public bodies like a water board or a province

c) A person that is living by the law

d) The board of directors of a company

47. According to the classic view on the responsibility of companies:

a) Companies should formulate codes of conduct

b) Companies should maximize their profits within the bounds of the law

c) Companies should only make socially useful products

d) Companies should talk to all relevant stakeholders and base their policies on those talks

48. Which of the following statements is in contradiction with the linear model for the relation of science, technology and society:

a) Science and technology can no longer be clearly separated today

b) Scientific development has a dynamic of its own, independent from society

c) Technological development determines social developments

d) Technology is applied science

49. Technocracy means:

a) Engineers are only responsible for technical decisions not for value decisions

b) Technologies are hard to change, because they are carefully attuned to other technologies and/or organizations

c) The desire to develop new technological possibilities and take up technological challenges

d) The governance of society on the basis of policies based on technical and scientific principles

50. Which of the following statements about the deductive-nomological model for explanation is false:

a) The model can be used to explain scientific laws

b) The model can be used to explain observations

c) The explanans should contain a reference to a scientific law

d) The explandum does not logically follow from the explanans but makes the explandum only more likely

51. Which of the following statements about induction is true?

a) Induction can be justified on the basis of past experience

b) Induction is a fallacy because it is based on wishful thinking

c) Induction is logically valid because it is based on a hidden additional assumption: the university premise

d) Inductive arguments are not logically valid but can nevertheless give a degree of support to the conclusion

52. Why is falsification of scientific theories at least in principle possible while verification of such theories is impossible?

a) Because falsification is based on a deductive argument and verification on an inductive argument

b) Because falsification is based on an inductive argument and verification on a deductive argument

c) Both falsification and verification are based on deductive arguments but only in the case of falsification this argument is valid

d) Both falsification and verification are based on inductive arguments but only in the case of falsification this argument is valid

53. Read the case and answer the question

On 25 July 2000, a Concorde crashed just minutes after take-off, killing all 109 people on board and four people on the ground. The Air France jet, bound for New York, crashed into a Relais Bleu hotel in the town of Gonesse, 10 miles north of Paris. The aircraft, which had taken off from Roissy Charles de Gaulle airport just two minutes earlier, plummeted to the ground after one of the left-hand engines caught fire on take-off. Flight AF4590 was the first Concorde in the aircraft's 31-year history to crash. This particular aircraft, one of a fleet of six owned by Air France, which has been in service since 1980 was inspected four days ago and threw up no problems. The accident came just a day after British Airways revealed that hairline cracks had been found in the wings of all seven of its Concordes. Following the accident all Concorde planes were taken out of service for several months.

Someone commenting on the decision to take all Concordes out of service remarks:

“It makes no sense to take the Concorde out of service. The safety record of the Concorde is rather good; it was the first accident in 31 years. Flying the Concorde is per kilometer traveled much safer than riding a car. Car accidents are generally accepted, so there is no reason to suppose that the risks of the Concorde are unacceptable”

Which of the following fallacies is committed by the person?

a) Appealing to the public (ad populum)

b) Naturalistic fallacy

c) Personal attack (ad hominem)

d) Wishful thinking

54. Answer this follow-up question on the Concorde

Another person comments:

“I also think that the Concorde should not have been taken out of service. However, I think that passengers have the right to decide for themselves whether they want to take the risk of flying the Concorde. So I think the public should be informed about the risk of flying the Concorde and then can decide for themselves”

What is the name of the principle (or framework) for determining the acceptability of risks to which this person is referring?

a) Informed consent

b) Precautionary principle

c) Risk-cost-benefitanalysis

d) Strict liability

55. Read the case and answer the question

On April 20, 2010, the oil platform Deepwater Horizon in the Mexican Gulf exploded. After burning for over 30 hours, the platform sank on April 22, 2010. This resulted in the death of 28 people working on the platform and an expected oil spill of about 4.9 million barrels (780×103 m3) of crude oil. The oil company BP owned the platform. Soon after the accident, several action groups incited car drivers to boycott local BP petrol stations because these belonged to the company guilty for the environmental damage.

Which “responsibility model” is applied by the proponents of a boycott?

a) Collective model

b) Corporate model

c) Hierarchical model

d) Individual model

56. Read the case and answer the question

Why Did the Charles-de-Gaulle Airport Terminal Collapse? "I can't explain what happened. I just don't understand it," Paul Andreu, architect of the collapsed terminal at Charles-de-Gaulle Airport, told L'Humanite newspaper. The 450-meter long terminal building is an elliptical tube constructed of concrete rings. Andreu, who also designed the French terminal for the English Channel Tunnel, drew upon principles of tunnel construction for the airport terminal building.

When it opened last year, many people praised the futuristic structure, calling it both beautiful and practical. Since there were no internal roof supports, passengers could move easily through the terminal. Some engineers say that the terminal's tunnel shape may have been a factor in the collapse. Buildings with no internal supports must rely entirely on the outer shell. However, investigators point out that it is the role of engineers to assure the safety of an architect's designs. Leslie Robertson, a chief engineer of the World Trade Center towers, told the New York Times that when problems occur, it's usually in the "interface" between architects, engineers, and contractors.

The collapse killed several people and left a 50 by 30 meter hole. It will take many months, and perhaps years, for investigators to determine whether the fatal collapse was caused by design flaws or oversights in construction. Meanwhile, airport officials say that they may tear down the terminal rather than repair it.

(Jackie Craven, on http://architecture.about.com/b/a/087860.htm)

How is the problem of allocating responsibility in complex situations like this called in the reader?

a) Ignorance

b) Prisoner‟s dilemma

c) Problem of many hands

d) Uncertainty
57. The conclusion of a deductive argument may be a statement referring to probabilities. 

58. If an argument is logically valid, then its premises are true. 

59. In the linear model of the relation between Science, Technology and Society technology is

taken to be a form of applied science. 

60. Descriptive moral relativism implies that an action is morally right when it is approved by

law or custom. 

61. One of the advantages of professional codes is that they describe unambiguously how

professionals ought to act. 

62. According to the deductive-nomological model the explanandum is always a statement

describing an event. 

63. Whether or not a risk is taken voluntarily is not relevant for the issue of whether that risk is

acceptable. 

64. Ethical egoism and utilitarianism are both forms of consequentialism. 

65. Passive responsibility is a form of legal responsibility (liability). 

66. The classic view on the responsibility of companies maintains that the only responsibility

of companies is to maximize profit within the margins of the law. 

67. According to Kant the justification of moral actions is based on categorical imperatives.

68. According to the individual accountability model the chief executive officer (CEO) of a

company is accountable for the actions of that company. 

69. A scientific law can be defined as a universal true statement of the form: in all cases when

conditions of the kind F are realized, conditions of the kind G are realized as well. 

70. Technological determinism means that technology acts as a independent force in human life. 

71. Second order effects of technology development are the desired effects of the intended use

of that technology. 

72. Entrenchment means that technologies are hard to change, because they are carefully

attuned to other technologies and/or organizations. 
73. CTA is concerned with influencing the process of creation of new technology and

introducing the needs that are not expressed in the market into that process. 

74. Cost/Benefit analysis only takes financial aspects of a new technology into account. 

75. A technological paradigm is a system of technological artifacts, stakeholders and

organizations. 

76. Different types of wind turbines can be depicted by drawing different technological

trajectories. 

77. A theory can be proven to be true by showing that its logical consequences are true. 

78. Risk liability is a weaker form of liability than fault liability. 

79. The conclusion of a valid argument with true premises is true. 

80. Second order effects of technology development are the desired effects of the intended use

of that technology. 

81. The precautionary principle is one of the frameworks for dealing with the social assessment

and regulation of risks. 

82. According to the corporate accountability model those highest in the organization’s

hierarchy are seen as being accountable

83. Entrenchment means that technologies are hard to change, because they are carefully

attuned to other technologies and/or organizations. 

84. Constructive TA, or CTA, is concerned with influencing the process of creation of new

technology and introducing the needs that are not expressed in the market into that process.

85. According to Stone, the distributive goal of the law is to ensure a fair allocation of the

damages or losses that may occur in social interaction. 

86. It is not possible to reason in a deductive way about normative statements. 

87. Cost/Benefit analysis only takes financial aspects of a new technology into account. 

88. According to utilitarianism an act is morally permissible for a person P if and only if the

act maximizes the value (happiness) for P. 

89. According to Kant the moral law is a categorical imperative that makes no reference to desires. 

90. “According to this professional code, engineers ought to serve the public” is a normative statement. 

91. A technological paradigm is a system of technological artifacts, stakeholders and organizations. 

92. Different types of wind turbines can be depicted by drawing different technological trajectories. 

93. According to the paradox of confirmation, the observation of a red shoe confirms the

claim that all ravens are black. 

94. Professional autonomy implies collegial control of professional work. 

95. Factual statements may, in principle, be vindicated by invoking observations concerning

external, intersubjectively observable phenomena.
96. The acceptability of risks is directly proportional to the outcome of risks assessments. 
97. The conclusion of any logically valid argument is true. 

98. The problem of many hands refers to the situation in which an action may have negative consequences for many people. 

99. Technological determinism is the idea that technology acts as an independent force in human life and society. 
100. One of the functions of professional codes is to encourage the professional group as a whole to act responsibly. 

101. The principle of Informed Consent says that an intervention is morally allowed provided that the client has been fully informed about the consequences, and has given his consent. 

102. If an argument contains only descriptive statements in the premises and it has a normative conclusion, then the naturalistic fallacy is committed. 

103. The precautionary principle asserts that (precautionary) measure have to be taken if there are

indications of a certain hazard, while that hazard cannot be scientifically proven. 

104. The individual accountability model of responsibility within organizations states that every member

of the organization is fully responsible for damage done by the organization. 

105. From a moral point of view, market regulation of technological risks always results in acceptable risk levels. 

106. According to Kant the basic principle(s) of ethics have to be universally and necessary true. 

107. According to ethical relativism the sole duty of each of us is to maximize his or her own good. 

108. There will be a solar eclipse during the time of this exam¿ is a descriptive statement. 
109. A solution is called a ¿technological fix¿ if technology is used to solve problems that are nontechnical in nature. 
110. One possible definition of fallacy is: a fallacy is an argument that has the appearance of being valid, but actually is not valid. 

111. In Hempel¿s model of explanation covering laws play no role. 

112. Professional autonomy implies that each professional should decide how to practice his profession.

113. Passive moral responsibility is the same is legal responsibility or liability. 

114. According to utilitarianism the moral assessment of an action has to be based on the nature of the

action. 

115. Even if all the premises of an inductive argument are true, the conclusion could be false. 

116. According to Kant human beings are intrinsically valuable. 

117. The control dilemma implies that it is hard to change technology once it has been fully implemented throughout society. 

118. Backcasting is a method that analyses historic events in order to learn lessons for future development. 

119. In a surprise-free scenario sudden and extreme occurrences are not taken into account. 

120. Cost/Benefit analysis only takes financial aspects of a new technology into account. 
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